Name: Period’z ﬁ !

QCA#3 Review Day 2
~ Domain and Range:
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1. Whatis the ran%e of the functson f{x) =-2x +10 when the dor?:‘;ln is {-4,-1, 0, 2}?.

N NE] 85

2. Whatis the g____g_m of the function f(x) = 2.5x - 1 when the'range is {-18.5,-6,-1, 11.5}?

1-7,-2.0,5}

3. Whatis the_?;_%ljggofthe function g(x) = 5x — 8, when thegg_mamls{ 5-1,1,4}

< =34, ~4, -, u}
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4. Whatis the do rz&am of the function h(x) =-3x + 12, when ther ange is{-3,0,12,18}
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5. Whatis the ra;\jge of the function f(x) = 2x + 2 when themg_g_rﬁg_ig is—1<x<57?
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6. What is the donzva;n of the function f(x) = 3x — 1 when the range is— 10 < y < 5 ?
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7. Whatis the Jange of the functiony =x% + 2, when dom alg is -3<xg2?
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Linear Relationships and equations: ‘ | ‘ =T~ - O

{3,-7,(0,-1), (2, 3)}
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9. erte the function that fits the data set.  {(=3, -11), (1, -3), (5, 5)}
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10. Write the equation of the line that passes through the points of (3, 3) and (-2, 6)?
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11. Evaluate the function f(x) = 3x2 + 4x -5 atf(-2)
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i ) iﬂ Give 5 possible points that would be on the equation: y = -4x +2
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13. Circle which of the following point(s) is a possible solution to 4% -2y 2 187
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* 14. Cindy is making bracelets to earn summer money. She uses the linear expression 3x+8 to calculate her
hourly earnings, in dollars, based on the number of bracelets x, that she makes. What is the fewest
number of bracelets she must make per hour in order to earn more than $26 per hour? '
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15. Jessie bought items for his pool party. He purchase d% Bags of chips at $3.50 each and y liters of soda at
$2 each. He had less than 530 to spend. What is a reasonable number of bags of chips and liters of soda
that Jessie purchased?
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16. Tickets for the homecdming footbaH game gre being sold for 512 for alumni _and S7 for students. The
stadium holds a maximum of 5000 people. } (90\ ot “‘73 C,;L‘I“ g 2z SQ S

How many alumni would need to buy tickets if 2000 students bought tickets and the school wanted to
make at least $38,0002

a. 24,000 < h_b. 2000:) ‘ c. 14,000 d. 3000
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